
 S S L C EXAMINATION  , MARCH -  2021

  S1635                       MATHEMATICS   – ANSWER KEY                    
                                                                                                                                                             

Qn no.  

For questions from  1 to   5  one score each .

1

Answer .  

 7 , 9 , 11 , . . .  

2

   Answer.

Square                                                       ( opposite angles are supplementary    )

3

  Answer.

 (2 , 0)                               (   y - coordinate of any  point  on the x - axis is zero    ) 

4

  Answer.

 12           ( The sides of  a triangle of  angels   300 , 600 , 900 are in the ratio 

                      1 : √3 : 2    ) 
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5

  Answer.

 Slope =
7−5
3−2

=
2
1

= 2  

For questions from  6 to   10  carries 2 scores each . 

6

 Answer.

First term  = 3 + 2 = 5 
 
Common difference  =  3
 

7

  Answer.

  ∠ ACB = 900                   (     Angle on a semicircle is right     )

   ∠ ADB =
90
2

= 450

8
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  Answer.

  Total number of results    = 9 

a ) Favourable results  = 1 , 3 , 5 ,  7 , 9  

    Probability of being an odd number   = Number of favourable results
Total number of results

=
5
9

b )   Probability that the number will not  be  an even  number   =

             Probability of being an odd number   = Number of favourable results
Total number of results

=
5
9

9

  Answer.

  OA = OB = OC = OD = 3

a ) Coordinates of  O =  (0 , 0)   

b ) Coordinates of   C   =  (0 , 3)

10

 Answer.

x2
− 1 = x2

− 12
= (x + 1) (x − 1)
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For questions from  11 to   20  carries 3  scores each . 

11

 Answer.

a ) Tenth term  = a + 10

b )  Common difference  = a+2−(a+1) = 1

c)  Algebraic form   = a + n                     ( dn + f − d = 1n + a + 1 − 1 = n + a )

12

  
Answer.

13

 Answer.

a )   2 , 4 , 6 , . . .

b )  x (x +2)+1 = 289 > x2
+ 2x + 1 = 289  ==> (x+1)2

= 289
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14

 Answer.

a )   PA = 10 − 4 = 6 cm

b )  PA × PB = PC × PD   ==>  6 × 4 = 3 × PD

       PD =
6 × 4

3
= 8 cm

15

 Answer.

a )  2

b ) OA2
+ PA2

= OP2 ==> 52
+ PA2

= 132

     52
+ PA2

= 132

     PA2
= 169 − 25 = 144  ==> PA = √144 = 12 cm

16
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 Answer.

 Coordinates of  B    = (6 , 0)

 Coordinates of  C   = (1 , 5)

 Coordinates of  D    = (−4 , 0)  

17 

 Answer.

a )   sin A =
Opposite side of ∠A

hypotenuse
=

24
k

 ==> k = 25

b )  cosC =
Adjacent side of ∠C

hypotenuse
=

24
25

       sinC =
Opposite side of ∠C

hypotenuse
=

7
25

18

 Answer.

a )   Slant height of the cone  = Radius of the sector   =  12 cm . 

b )  x
360

=
r
R

  ==>  120
360

=
r

12

       r =
12×120

360
= 4 cm
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19

 Answer.

a )  ∠ OAP = 900

b )   

20

SARATH  A S , GHS ANCHACHAVADI  , MALAPPURAM



Answer.

  DP = CP

a ) Probability that the dot would be inside
                                                                                              
     the triangle APB   =         

                                      Area of triangle APB
Area of the rectangle

=

1
2
×AB×h

AB×AD
=

1
2
×AB×AD

AB×AD
=

1
2

b ) Area of triangle ADP =
1
2

× DP×AD=
1
2
×
CD

2
×AD =

1
2
×

AB
2

×AD

                                                                                                             = 1
4
×AB×AD  

c) Probability that the dot would be inside the   triangle ADP   = 
                                                                                                                     

                                                             Area of triangle ADP
Area of the rectangle

=

1
4
×AB×AD

AB×AD
=

1
4

                                                 

For questions from  21 to   30  carries  4  scores each . 

21

Answer.

a )    x20 = f + 19d = 5 + 19×5 = 5 + 95 = 100

b )   S20 =
20
2

(x1 + x20) =
20
2

×( 5 + 100 ) =
20×105

2
= 1050

c)   Sum =   1050 − 20×1 = 1030
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22

Answer.

  <ECG = 1100     (  DGCE is cyclic   , opposite angles of a cyclic quadrilateral

                                       are supplementary

    <EBG = 1200  ( If one vertex of a quadrilateral is inside the circle drawn

                 through the other vertices , then the sum of the angles at this vertex and 

                 the opposite vertex is greater than  1800     )
        
    <EAG = 600  ( If one vertex of a quadrilateral is outside the circle drawn

                 through the other vertices , then the sum of the angles at this vertex and 

                 the opposite vertex is  less  than  1800     )

23
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Answer.

24

Answer.

a ) sin A =
1
2

 ==> Opposite side of ∠ A
hypotenuse

=
1
2

                            ==> BC
AC

=
1
2

==> AC = 2                               ( BC = 1 )          

b )  AB2
+ BC 2

= AC2 ==> AB2
+ 12

= 22 ==> AB2
+ 1 = 4 ==> AB2

= 4 − 1 = 3

       AB = √3

c)   ∠ A = 300          ( The sides of a triangle  of  angles   300 , 600 , 900 are in

                                        the ratio  1 : √3 : 2     ) 
                           

d)  sin 600
=

√3
2

25
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Answer.

26

 Answer.

 a) Mean =
11+32+33+35+39+41+45+47+48+49

10
=

380
10

= 38

b ) 11 , 32 , 33 , 35 , 39 , 41 , 45 , 47 , 48 , 49

        Median=
39+41

2
=

80
2

= 40        

27

Answer.
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28

Answer.

a) Length of the larger side = 20 − 7 = 13 cm

a) Perimeter  = 40 cm ==> Length + breadth =
40
2

= 20

     If   length  = 10+x    then   breadth  = 10 − x
    
  (10 + x) (10 − x)=96 ==> 100 − x2

= 96 ==> x2
= 100 − 96 = 4

   x = √4 = 2

   Length   = 10 + 2 = 12 cm  ,     Breadth    = 10 − 2 = 8 cm

29

Answer.

a) Total number of two digit numbers  = 90

   Favourable results  = 11 , 22 , 33 , 44 , 55 , 66 , 77 , 88 , 99

   Probability of both digits being the same  = 9
90

b) Favourable results  =  21  ,  42  ,  63  ,  84

     Probability of the first  digit  being twice the second  = 4
90

                                  

30

Answer.

a) p(2) = 22
−5×2 + 9 = 3

    p(3) = 32
−5×3 + 9 = 3
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b)  p(x) −p (2) = x2
−5 x + 9 − 3 = x2

−5 x + 6   

      p(x) −p (2) = (x − 2) (x − 3)

For questions from  31 to   45  carries  5  scores each .

31

Answer.

a) 11 12 13 14 15

b)  10

c) 1 + 2 + 3 + . . . . . + 10=
10×11

2
= 55

d) Last number in the tenth line  = 55

   First number in eleventh line  =  55 + 1 = 56

32
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Answer.

a) 8 sq . cm

b)  

33

Answer.

a) 

b)  Width of the river  = BC 

      <ACD=1200      ( Linear pair   )
 
      <CAD=180−(120+30)=180−150=300

  
       ==> C D=AC=20മീ                                          ( <D = <CAD =300

)

In triangle ABC    , BC = 10 m       (    The sides of a triangle  of  angles 

                                                        300 , 600 , 900 are in the ratio  1 : √3 : 2   )

 Width of the river   = BC   = 10  m 
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34

Answer.

a) Coordinates of   B = (6 , 4)

     Coordinates of  D    = (2 , 12)

b) Coordinates of  the midpoint of AC 

                                                                  =  (
2+6

2
,

4+12
2

) = (4 ,8)

c) 2a

35

Answer.

<AZY = < ZXY = 600       ( In a circle , the angle which a chord makes with the 

   tangent at  one end on any side is equal to the angle which it makes on the part of 

   the circle on  the other side  ) 

     <AZY = < AYZ = 600      (  AZ = AY   ,  The tangents to a circle from a point

                                                         are of the  same length   ) 
                                                                                                                                              
                                                                                                                                             
  <A = 180 − (60 + 60) = 600     ( Sum of the angles of a triangle is  1800  )

SARATH  A S , GHS ANCHACHAVADI  , MALAPPURAM



 
 <CXY = <XZY = 500     

  <CXY = <CYX = 500

  <C = 180 − (50 + 50) = 800

  <B = 180 − ( < A + <C ) = 180 −(60 + 80) = 400

36

Answer.

a) r2
+ h2

= l2 ==> 52
+ h2

= 132 ==> 25 + h2
= 169 ==> h2

= 169 − 25 = 144

   h=√132
−52

= √169−25 = √144 =12 cm

b) Volume of the cone   =  1
3
×π×52

×12 = 100π cm3

  

c) Volume of a small cone = 1
3
×π×12

×1=π
3

cm3

                                                                                                                                            

   Number of smaller cones  = Volume of larger cone
Volume of smaller cone

                        

                                               =  100π ÷ π
3

=
100π×3

π = 300

37
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Answer.

a) Radius =  √(4−1)2
+(5−1)

2
= 5

b) (x−1)
2
+( y−1)

2
= 52

c) (6−1)2
+( y−1)

2
= 52 ==> 52

+( y−1)2
= 52 ==> 25+( y−1)

2
= 25

   ==> ( y−1)
2

= 25 − 25 = 0 ==> y−1 = 0 ==> y = 1

38

Answer.

a)   r1❑
: r2 = 1 : 2   (   Ratio of the diameters  =  Ratio of the radii   )

b)  r1 = 1 r   ,  r2 = 2 r

  Ratio of the surface areas   = 4 π r2 : 4π (2r)2    =  4 π r2 : 16 π r2

                                                = 4 π

16 π
= 1

4
= 1 : 4

c) Surface area of the second cone    =  4 × 10π = 40π sq . cm

39

Answer.

a) 1

b) 108 , 117 , 126 , . . .

     Algebraic form = dn + f − d = 9n + 108 − 9 = 9n + 99

 ` 9n + 99 = 999 ==> 9n = 999 − 99 = 900
 

     n =
900

9
= 100
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40

Answer.

a) 300

b) 2 cm

    (     The sides of a triangle with angles  300 , 600 , 900  are in the ratio

         1 : √3 : 2     )

c) BC = 2√3 + 2√3 = 4√3 cm

      Area of the triangle  = 1
2
×4√3×2 = 4 √3 sq . cm

41
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Answer.

a) <PQR = 180 − 50 = 1300  (  In a circle , the angles between the radii through 

   two points and the angle between the tangents at these points are supplementary )

b)  

42

Answer.

a) <ACB = 400  

    <ADB = 400  (  The angle made by an arc on its alternate arc is half its central

                                   angle  ) 
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    <ADP = 1400      ( Linear pair   )

b)  <BCP = 1400

      <CQD + <P = 360 − (140 + 140) = 360 − 280 =800

                                                               ( Sum of the angles of a  quadrilateral is 3600 )

43

Answer.

a) 10 cm

b) 

Volume = 1 litre   ==>  Base area×height = 1000 cm3

If the base edge of the box is    x   , 

       x2
× 10 = 1000 ==> x2

=
1000

10
= 100   ==> x = √10 0 = 10

  
Length of a side of a square thick paper sheet   =  x + 20 = 10 + 20    

                                                                               =   30 cm        
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44

Answer.

Score Number of children 

Below  10  5

Below  20  13

Below  30  23

Below  40  36

Below  50  45

      

    N+1
2

=
45+1

2
=23

     Median  = Score of the   23rd child     = x23

     Median comes between 20   and  30  . 

     There are   10 children in the median class   . 

      Divide the 10 scores  between  20 and  30  in to  10 equal parts . 

     Length of one subdivision =
30−20

10
=

10
10

= 1 = d

      Assume that each such subdivision contains one student whose score  is the mid

      value of that subdivision .   
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a ) x14 =
20+21

2
=

41
2

= 20.5

    (  Scores  of the children  in the median class are in arithmetic sequence   )

b)      Median score  =  x23 = x14 + 9d = 20.5 + 9 × 1 = 29.5

 45
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Answer.

a )    Incircle  .  

b )    Circumcircle .

c)    r × s

d)   20

e)   2
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